
 

 

INSTRUCTIONS 
2 Door JK Overland Shelf 

 
 

 
Thank you for purchasing your 2 Door JK Overland Shelf from AAL! We greatly appreciate your trust in our 
company. We take that purchase and your commitment to us very seriously. If you have any questions along 
the way, please don’t hesitate to give us a call at 385.202.4188. 
 

Step 1 - Lay Out All Components (What’s Included) 

 
●​ (X4) Edge Guards 
●​ (x4) Outside Support Rails 
●​ (x1) Inside Mounting Rail 
●​ (x2) Top Aluminum Panels 
●​ (x2) Triangle Support Pieces 
●​ (x2) Molle Panel Supports 
●​ (x2) Shelf Brackets 

 
 
 
 
 
 



 

 
 
Hardware Included: 

●​ (x66) - M6x14 Button Head Bolts 
●​ (x34) - M6 Nyloc Nuts 
●​ (x18) - M6x14 Flat Pan Head Bolts 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
Step 2 - Assemble Shelf 
 
You will start by assembling the “skeleton” of the JK overland shelf. This consists of the 4 outside steel support 
rails. You will then attach the single inside steel mounting rail to the shelf brackets and outside steel support 
rails using the provided M6 button head bolts.

 



After that is done you will attach the 2 aluminum panels to the shelf frame using the provided M6 flat pan head 
bolts. 

 
 
 
 
 



Once that is completed you can make sure the triangle support pieces are attached to the underside of those 
molle panel supports before installing the molle panel supports to the Jeep using the factory hardtop bolts 
using the M6 button head bolts.

 
 
 
 



 

 



After that is done you can install your assembled shelf to the molle panels, tightening all of the screws​
and mount the edge guards using the provided M6 button head bolts. With that, you’re all set!

 

 







 
 

 



 
 
Step 5 - Show Off Your Handy Work  
 
Thank you again for purchasing your JK Overland Shelf from AAL. We greatly appreciate your support. 
 
Please let us know what you think about the product and installation process. Also, if you have any feedback 
for us on our product, instructions or anything else please let us know at sales@americanadventurelab.com as 
we are striving to be better in every aspect! 
 
If you are so inclined, please share your installation photos with us online: 

●​ Facebook - https://www.facebook.com/AmericanAdventureLab 
●​ Instagram - https://instagram.com/americanadventurelab 

 
 

 

https://www.facebook.com/AmericanAdventureLab
https://instagram.com/americanadventurelab

	INSTRUCTIONS 

